EARAZROREIERT — 2 N—XBISY —F 2021578208 (k) 9EEZHEIH

W EEE——2574—/\—18 6 H#5%3% ‘[ﬂs‘dﬂﬁ ‘Béiﬂélasﬁ] — |5 @ 1900 &
[AE4£] 17 :340,000 3 ~ 23#&:109,000  ~ 3#&:61,000H ~ 43#&:41,0008”  53&:27,000 9
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
O — SHEKX :31. 22— . - ABED (BEE)

(gl #=vAF 5= 3 ZHx 1(3_1)3 3-2-2-2 | 40.7 2 (4_476) il

vy 74 B:YIF AEHS
. . . CIES ] 66— _ EEE

9 6lEXE—2a K- 3 &%6% (11.311/.26) 5-6-6-5 | 39.4 5 (4+213) E;E:'E:u; (B&E)

L:FNTz—TdIV B:T—-XTU—> B HFREMKSHIVAT RS
e ) frmksi

alzl7 1Ly # 3 ;L}gﬂ%fé' 1(.13/12.>7 -1-1-1 |42 — | ;4_734) ZEE;; (B&E)
LA a39R-5— B 7=-aFv > 7Y s

4 e f 3 5?5?127&&5 1:(322).1 7-5-5-4 |40.5| — | 9 | 403 %ggﬁi ég;é)
RiGYTI(5—2 BiAHsamTU—b (O Sty

N 5 = . _A_A_ _ A

517l s SN IINLF > 3 gg%ﬂm 1.(312).3 4-4-3-3 | 41.0 4 (5016) s%}igé (BHR)
RHYRG4TTZ BAAOVE | em #wx

6l5/5| F—E>TUH~AZ # 3 Qﬂ%%:_ 1:(343).2 6-7-7-6 |40.7| — | 6 | 420 g;géi (BHE)
R:b—t>OL>X B:b—t>VYZIT (-6) BRREEM IXFqT7—AL

24|77 kb7 4 3 ggﬁ%g: 1:(3133.4 10-10-10-8 | 40.2 | — 10 | 400 ;EE?LE (BEE)
RiTr/—AS BA-NFLT R 0| X s

8 4| HE/ NI b 4 3 ?ﬁﬁog 1:(323).8 8-8-9-10 |40.6 | — 8 469 gﬁgg;)\ (BHE)
Qi s b T-WEY BT FE—L #9) | igmuss

. 4 3 | EFE 1:34.1 9-9-8-9 |41.0| — 7 419 |$HREX (BHE)
9 2/ 7=77 4274 $54.0 (1 1/2) (s |18 KIZUNA#E

NPT SY BieAUNILYAD il =Rl
10/8] 9 #‘/“:l)l/‘?-;( 3 ;ggréﬁ 1:(3:;1).8 2-3-4-7 [43.4 — | 3 (4:)57) %ﬁ?llf;(ﬁf%t‘vay
ST RAfO— B:UAILYF RS
@ 11— —EBIRfL
1S=zr= 7,9,10,8,6,5,3,4,2,1
23=zr= 7,10,9,8,3,6,5,4,2,1
d=7r= 7,10,8,9,3,6,5,2,4,1
43—+ — 7,10,8,3,6,5,9,1,2,4
o ILRE
BB 10 280 | | 71 K 6-10 370 B & 6-8 820 HER 6-7-10 730A
7 B 10 100M 7-10 180M 5= 6-10 1,430 3EE 10-6-7 5,090MH
6 140 6-7 280M B B 10-6 1,820
7 110M

ARICOVWTRDTEEERROODE. TR LIV,



